ABSTRACT STATEMENT OF ELECTION EXPENSES PART - I Name of the Candidate SRI BISWARUP BHATTACHARJEE Ш Number and name of constituency L.A. 5, BADARPUR CONSTITUENCY 111 Name of State/Union Territory **ASSAM** IV Nature of Election (Please mention whether ASSEMBLY GENERAL ELECTION, 2021 general Election to state Assembly/ Lok Sabha / Bye-Election) 02ND MAY, 2021 V Date of declaration of result VI SRI BASUDEV BHATTACHARJEE Name and address of the Election Agent REDCROSS ROAD, KARIMGANJ VII If candidate is set up by a Political Party, BHARATIYA JANATA PARTY Please mention the name of the Political Party. VIII Whether the Party is a recognized political YES.

Date: 14.06.2021

party.

Place : Karimganj

Signature of the Candidate

PART-II : ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDIATE

SI. No.	Particulars	Amount incurred / Authorised candidate Election Agent (in Rs.)	Amount incurred /authorized by Pol. Party (in. Rs.)	Amount incurred/ authorized by other (in Rs.)	Total Election Expense (3+4+5) (In Rs.)
1	2	3	4	5	6
	Expenses in public meeting, rally, procession etc: i.a.: Expenses in public meeting, rally, procession etc. with star campaigners of the political party, Enclose as per schedule-I)	2,42,491.00	NIL	NIL	2,42,491.00
	I.b.: Expenses in public meeting, rally, procession etc. with star campaigners (i.e. other than those for general party propaganda) (Enclose as per schedule-2)	94,344.00	4,40,385.00	NIL	5,34,729.00
II	Campaign material other than those used in the public meeting, rally, procession etc. mentioned in Sl. No. 1 above (Enclose as per schedule-3)	49,500.00	90,100.00	NIL	1,39,600.00
III	Campaign through print and electronic media including cable network, bulk SMS or internet and social media (Enclose as per schedule-4)	Mir	NIL	NIL	NIL
IV	Expenditure on campaign vehicle(s), used by candidate (Enclose as per schedule-5)	2,61,310.00	NIL	NIL	2,61,310.00
٧	Expenditure on campaign workers/ agents (Enclose as per schedule-6)	9,51,400.00	NIL	NIL	9,51,400.00
VI	Any other campaign expenditure	Extra - Vehicle Rs. 50,000.00 Security Depo. Rs. 10,000.00	NIL	NIL	60,000.00
VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclo as per Schedule-10)*	NIL	NIL	NIL	NIL
	GRAND TOTAL	16,59,045.00	5,30,485.00	NIL	21,89,530.00

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Part – III : ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE

SI. No.	Particulars	Amount (in Rs.)
1	2	3
ı	Amount of own fund used for the election campaign (Enclose as per Schedule-7)	NIL
П	Lump sum amount received from the Party (ies) in cash or cheque etc. (Enclose as per schedule-8)	20,00,000.00
111	Lump sum amount received from any person/company/firm/ Association/body of person etc. as loan, gift or donation etc. (Enclose as per schedule-9)	NIL
	Total-	20,00,000.00

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Expenses in public meeting, rally, procession etc. (i.e. other than those with star than those with star campaigners of the Political Party)

SI.	Nature of expenditure	Total	So	urce of expenditu	ire
No.		Amount in Rs.	Amount incurred/ Auth by candidate / Agent (in Rs.)	Amount incurred by Political party with name (in Rs.)	Amount incurred by others (in Rs.)
1	2	3	4	5	6
1.	Vehicles for transporting visitors	NIL	NIL	NIL	NIL
2.	Erecting stage, pandal & furniture, fixtures poles etc.	2,42,491.00	2,42,491.00	NIL	NIL
3.	Arches & Barricades etc.	NIL	NIL	NIL	NIL
4.	Flowers / Garlands	NIL	NIL	NIL	NIL
5.	Hiring loud speakers, Microphones, amplifiers, comparers etc.	NIL	NIL	NIL	NIL
6.	Posters, hand bill, pamphlets, Banners, cut-outs, hoardings	NIL	NIL	NIL	NIL
7.	Beverages like tea, water, cold drink, juice etc.	NIL	NIL	NIL	NIL
8.	Digital TV boards display, projector, display, tickers boards, 3d display	NIL	NIL	NIL	NIL
9.	Expenses on celebrities payment to musicians, other artist remuneration etc.	NIL	NIL	NIL	NIL
10.	Illumination items like serial lights, boards etc.	NIL	NIL	NIL	NIL
11.	Expenses on transport, Helicopter/aircraft/vehicles/boats etc. charges (for self, celebrity or any other campaigner other than star campaigner)	NIL	NIL	NIL	NIL
12.	Power consumer / generator charges	NIL	NIL	NIL	NIL
13.	Rent for venue	NIL	NIL	NIL	NIL
14.	Guards & security charges	NIL	NIL	NIL	NIL
15.	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including star campaigner	NIL	NIL	NIL	NIL
16.	Other expenses	NIL	NIL	NIL	NIL
	Total	2,42,491.00	2,42,491.00	NIL	NIL

Date: 14.06.2021 Place: Karimganj Signature of the Candidate

Expenditure in public meeting rally, procession etc. with the star campaigner(s) as apportioned to candidate (i.e. other than those for general party propaganda)

SI.	Date & Venue	Name of the star campaigner(s)		enditure on pul		Remarks (if
No.		& name of the party		ssion etc. with		any)
				er(s) apportione		
				other than for g	eneral party	
				propaganda)		
			Amount by	Amount by	Amount by	
			candidate/Age	political party	others	
			nt			
1	2	3	4	5	6	7
1.	18.03.20210	Sri Narendra Modi				Voucher will
	Meeting at	Hon'ble Prime Minister of India				submit by
	Bhatgram,		NIL	4,40,385.00	NIL	BJP,
	Karimganj					Assam
						Pradesh
2.	30.03.2021	Sri Sarbananda Sonowal				
	Meeting at	Hon'ble Chief Minister of Assam	94,344.00	NIL	NIL	
	Cheragi Bazar					
3	NIL	NIL	NIL	NIL	NIL	
4.	NIL	NIL	NIL	NIL	NIL	
5.	NIL	NIL	NIL	NIL	NIL	
		Total	94,344.00	4,40,385.00		
				G	rand Total -	- 5,34,729.00

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of expenditure on campaign materials like Hand Bills, Pamphlets, Posters, Hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/DVDs, Loud speakers, amplifiers, digitals TV / board display, 3d display etc. for candidate's election campaign (i.e. : other than those covered in schedule – 1 & 2)

SI.	Nature of Expenses	Total Amount in Rs.	Sour	Sources of Expenditure				
No.			Amount by candidate/Agent	Amount by political party	Amount by others	(if any)		
1	2	3	4	5	6	7		
1.	Flex, Banner, Cutout, Hordings, etc.	33,000.00	Candidate	NIL	NIL			
2.	Namuna Ballot	4,000.00	-Do -	NIL	NIL			
3.	Posters	12,500.00	-Do -	NIL	NIL			
4.	Posters	7,350.00	NIL	BJP, Assam Pradesh	NIL			
5.	Flag, Caps, Badge, Muffler, etc.	82,750.00	NIL	-Do-	NIL			
	Total –	1,39,600.00						

Date: 14.06.2021

Place: Karimganj

Signature of the Candidate

Details of expenditure on campaign through print and electronic media including at work bulk SMS or internet or Social Media, nears items/TV/Radio Channel etc. including the paid news so decided say MEME or Voluntary admitted by the candidate. The details should include the expenditure incurred on all such news items appearing news papers/TV/Radio Channels to owned by the candidate or by the political party sponsored the candidate.

SI.	Nature of	Name and address	Name & address of	Total Amount	Source	ces of Expend	diture
No.	medium	of media provider	agency, reporter,	in Rs.	Amount by	Amount by	Amount by
	(electronic/print)	\1	stringer, company or any	(Col. 3+4)	candidate/	Pol. Party	others
	and duration		person to whom charges		agent		
		Social media etc)	/ commission etc.				
			paid/payable, if any				
1	2	3	4	5	6	7	8
1.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
2.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
3.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
4.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
5.	NIL	NIL	. NIL	NIL	NIL	NIL	NIL
	Total –	NIL	NIL	NIL .	NIL	NIL	NIL

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of expenditure on campaign through print and electronic media including at work bulk SMS or internet or Social Media, nears items/TV/Radio Channel etc. including the paid news so decided say MEME or Voluntary admitted by the candidate. The details should include the expenditure incurred on all such news items appearing news papers/TV/ Radio Channels to owned by the candidate or by the political party sponsored the candidate.

SI.	Nature of medium	Name and address of media	Name & address of agency, reporter,	Total	Sou	irces of Expend	diture
No.	(electronic/print) and duration	provider (print/electronic/	stringer, company or any person to	Amount	Amount by	Amount by	Amount by
		SMS/voice/cable TV, Social	whom charges / commission etc.	in Rs.	candidate/	Pol. Party	others
		media etc)	paid/payable, if any		agent		
1	2 3		4	5	6	7	8
1.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
2.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
3.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
4.	NIL	NIL	NIL	NIL	NIL	NIL	NIL
	Total –	NIL	NIL	NIL	NIL	NIL	NIL

Date: 14.06.2021

Place: Karimganj

Signature of the Candidate

Details of expenditure on campaign vehicle(s) and poll expenditure on vehicle(s) for candidates election campaign.

SI.	Regn. No. of vehicle & type	Hire charges	of vehi	cle	No. of	Total	Source	es of Expend	liture
No.	of vehicle	Rate for hiring of vehicle/ mainten ance including Driver Allowance &	Fuel charges (if not covered under hiring)	Drivers change (if not covered under hiring)	days for which used	amount incurred/ auth. In Rs.	Amount by candidate/ agent		Amount by others
1	2	Fuel Cost. 3a	3b	3c	4	5	6	7	8
1	AS-10D/4166 (BOLERO)	1460/-	-	-	07	10220.00	10220.00	NIL	NIL
2	AS-10D/4166 (BOLERO)	1650/-	-		06	9900.00	9900.00	NIL	NIL
3	AS-10D/4166 (BOLERO)	1800/-	_	-	04	7200.00	7200.00	NIL	NIL
4	AS-01EM/ 3231 (BOLERO)	1460/-	-	_	01	1460.00	1460.00	NIL	NIL
5	MZ-01R /2027 (BOLERO)	1760/-	-	-	01	1760.00	1760.00	NIL	NIL
6	AR-01F/ 0730 (SCORPIO)	2400/-	-	-	01	2400.00	2400.00	NIL	NIL
7	WB-01F/3034 (BOLERO)	1760/-	-	-	01	1760.00	1760.00	NIL	NIL
8	AS-01 A/ 3725 (OMNI)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
9	AS-01 A /5241 (OMNI)	1160/-	•	-	01	1160.00	1160.00	NIL	NIL
10	MZ-01D/ 5769 (OMNI)	1460/-	-	-	01	1460.00	1460.00	NIL	NIL
11	AS-01A/ 3967 (ALTO)	1160/-	-	-	08	9280.00	9280.00	NIL	NIL
12	AS-01A/ 7494 (ALTO)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
13	AS-11 Q /2843(OMNI)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
14	AS-24 C /1569 (OMNI)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
15	AS-24C/ 4022(MAGIC)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
16	AS-01D /8166 (OMNI)	1160/-	-	-	01	1160.00	1160.00	NIL	NIL
17	AS-01BP/ 0160 (WAGNOR)	1160/-	-	47	01	1160.00	1160.00	NIL	NIL
18	AS-01TC/ 245 (SCORPIO)	2400/-	-	-	02	4800.00	4800.00	NIL	NIL
19	AS-01TC/ 245 (SCORPIO)	1800/-	-	-	01	1800.00	1800.00	NIL	NIL
20	AS-01BP/ 0160 (WAGNOR)	1260/-	-	_	01	1260.00	1260.00	NIL	NIL
21	AS-01BP/ 6999 (WAGNOR)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
22	AS-24C/1335 (MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
23	AS-24C/4023 (MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
24	AS-24C/1569 (MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
25	AS-01 /2487 (OMNI)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
26	AS-01 /8166 (OMNI)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
27	AS-10A/ 3967 (ALTO)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL

Contd.....

Date: 14.06.2021

Place: Karimganj

Signature of the Candidate

SI.	Regn. No. of vehicle &	Hire charges	of veh		No. of	Total amount	Sources	s of Expendi	ture
No.	type of vehicle	Rate for hiring of vehicle/ mainten ance including Driver Allowance & Fuel Cost.	Fuel charges (if not covered under hiring)	Drivers change (if not covered under hiring)	days for which used	incurred/ auth. In Rs.	Amount by candidate/ agent	Amount by Pol. Party	Amount by others
1	2	3a ·	3b	3c	4	5	6	7	8
28	AS-10A/ 3155 (ALTO)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
29	AS-10A/ 9819 (ALTO)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
30	AS-24C/ 1569(MAGIC)	1260/-	-	- 1	01	1260.00	1260.00	NIL	NIL
31	AS-24C/ 4823(MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
32	AS-24C/ 8456(MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
33	AS- / 9535 (OMNI)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
34	AS- / 4353 (OMNI)	1260/-	-	_	01	1260.00	1260.00	NIL	NIL
35	AS- / 7215 (OMNI)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
36	AS- / 4887 (OMNI)	1260/-	_		01	1260.00	1260.00	NIL	NIL
37	AS- / 7715 (OMNI)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
38	AS-11Q/ 1122 (BOLERO)	1650/-	-	-	01	1650.00	1650.00	NIL	NIL
39	AS-2 / 4023(MAGIC)	1260/-	-	-	01	1260.00	1260.00	NIL	NIL
40	AS-01B/ 8166 (ALTO)	1500/-	-	-	01	1500.00	1500.00	NIL	NIL
41	AS-10A/ 3155 (ALTO)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
42	AS-11Q/ 1122 (BOLERO)	1800/-	-	-	03	5400.00	5400.00	NIL	NIL
43	AS-10D /9535 (OMNI)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
44	AS-05/ 9819 (ALTO)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
45	AS-10A/ 4664 (ALTO)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
46	ML-04/ 3202 (ALTO)	1500/-		-	03	4500.00	4500.00	NIL	NIL
47	AS-10 /4887 (OMNI)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
48	AS-01/7715 (OMNI)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
49	AS-10/4353 (OMNI)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
50	AS-10A /0914 (OMNI)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
51	AS-10A/ 3967 (ALTO)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL
52	AS-01/ 0160 (WAGNOR)	1500/-	-	-	03	4500.00	4500.00	NIL	NIL

Date: 14.06.2021

Place : Karimganj

Contd.....

Signature of the Candidate

SI.	Regn. No. of vehicle &	Hire charges		icle	No. of	Total amount	Sources	s of Expendi	ture
No.	type of vehicle	Rate for hiring of vehicle/ mainten	Fuel charges (if not	Drivers change (if not	days for which	incurred/ auth.	Amount by candidate/	Amount by Pol. Party	The second secon
		ance including Driver Allowance & Fuel Cost.	covered under hiring)	covered under hiring)	used	In Rs.	agent		
1	2	3a	3b	3c	4	5	6	7	8
53						1,43,310.00	143310.00		
54	AS-01BP/0160	1260/-			7	8820.00	8820.00	-	
55	AS-01BP/6999	1260/-			7	8820.00	8820.00		
56	AS-24C/1335	1260/-			7	8820.00	8820.00		
57	AS-24C/4023	1260/-			7	8820.00	8820.00		
58	AS-24C/1569	1260/-			7	8820.00	8820.00		
59	AS-01A/9819	1260/-			7	8820.00	8820.00		
60	AS-10A/3967	1260/-			7	8820.00	8820.00		
61	AS-10A/3155	1260/-			7	8820.00	8820.00		
62	AS-01/8166	1260/-			7	8820.00	8820.00		
63	AS-01A/7715	1260/-			7	8820.00	8820.00		
64	AS-01/9535	1260/-			7	8820.00	8820.00		
65	AS-05/9819	1540/-			1	1540.00	1540.00		
66	AS-24C/9819	1260/-			7	8820.00	8820.00		
67	AS-10A/3155	1260/-			7	8820.00	8820.00		
68	AS-10D/4166	1800/-			1	1800.00	1800.00		
					TOTAL	2,61,310.00	2,61,310.00		

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of expenditure on campaign works/ Agents and on candidates booths (Kiosks) outride polling stations for distribution of voter's slip.

SI.	Date & venue	Expenses on	campaign	works	Total amount	Source	es of Expendi	ture
No.		Nature of expense	Rate	No. of	incurred/	Amount by	Amount by	Amount
				workers/	auth.	candidate/	Pol. Party	by others
				Agents No. of kiosks	In Rs.	agent		
1	2	3a	3b	3c	4	5	6	7
1	11.03.2021 to	Expense for			4,88,400.00	Candidate	NIL	NIL
	31.03.2021	Party Workers						
	01.04.2021	Expense for	1000	460	4 60 000 00	ρ.	NIII	NIII
2	01.04.2021	Polling Agent	1000	460	4,60,000.00	Do	NIL	NIL
	02.05.2021	Expense for	150	20	3,000.00	Do	NIL	NIII
3	02.00.2021	Counting Agent	100	20	3,000.00	DO	INIL	NIL
4	NIL	NIL	NIL	NIL	NIL	NIL	NIL	NIL
				TOTAL	9,51,400.00			

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of amount of own fund used for the election campaign.

SI. No.	Date	Cash DD/ Cheque No etc. with details drawee Bank		Total amount in Rs	Remarks
1	2	3	4	5	6
1.	NIL	NIL	NIL	NIL	
	TO	TAL		NIL	

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of lump sum amount received from the party (ies) in cash or cheque or DD or by Account transfer.

SI. No.	Name of the Political Party 2	Date 3	Cash 4	DD/Cheque No. etc. with details of drawee Bank	Total amount in Rs	Remarks
1.	BHARATIYA JANATA PARTY, ASSAM PRADESH	21.03.2021		RTGS	20,00,000.00	
тот	AL				20,00,000.00	

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of lump sum amount received from the party (ies) in cash or cheque or DD or by Account transfer.

SI.	Name and address	Date	Cash	DD/Cheque No.	Mention	Total	Remarks
No.				etc. with details		amount in	
				of drawee Bank	loan, gift of	Rs	
					donation		
					etc.		
1	2	3	4	5	6	7	8
1	NIL	NIL	NIL	Nil	NIL	NIL	
2	Nil	Nil	Nil	Nil	Nil	Nil	
	TOTAL					NIL	

Date: 14.06.2021

Place : Karimganj

Signature of the Candidate

Details of expenditure incurred on publishing criminal antecedents, if any in newspaper and TV Channel

SI. No.	Newspaper			Television			Mode of payment
	Name of Newspaper	Date of publishing	Expenses that may have been incurred (in Rs.)	Name of channel	Date & time of insertion/ telecast	Expenses that may have been incurred (in Rs.)	(electronic / cheque / DD/ Cash) (Pl. specify)
1	2	3	4	5	6	7	8
1	NIL	NIL	NIL	NIL	NIL	NIL	NIL
2	NIL	NIL	NIL	NIL	NIL	NIL	NIL
3	NIL	NIL	NIL	NIL	NIL	NIL	NIL

Note:

- 1. In Schedule 5:-
 - (a) Copy of the order containing list of all vehicles for which permit by the Returning Officer to be enclosed.
 - (b) If the vehicle is owned by the candidate/ his relative/agent are used for election purpose, notional cost of hire of all such vehicle, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.
- 2. In all schedules if any expenditure on goods and services, provided by the Political party, or provided by any person/ company/ firm associations/ body of persons etc. on behalf of the candidate, then notional market value of such goods or services are to be indicated in respective columns.
- 3. In Part-III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for elections expenses.
- 4. Each page of the Abstract Statement should be signed by the candidate.

* In pursuance of Hon'ble Supreme Court Judgment dated 25.09.2018 in WPC No. 536 6 2011

Date: 14.06.2021

Place: Karimganj

Signature of the Candidate



অসম असम ASSAM

27AA 472967



PART - IV

Before the District Election Officer, Karimganj, Assam

Affidavit of Biswarup Bhattacharjee, son of Late Bireswar Bhattacharjee & Late Amiyabala Bhattacharjee.

l, Biswarup Bhattacharjee, son of Late Bireswar Bhattacharjee & Late Amiyabala Bhattacharjee, Age completed — 68 years (Sixty Eight years), (D.O.B- 13.03.1952), resident of Red Cross Road, W/No. 12 of Karimganj Municipality, P.O. & P.S. Karimganj, Dist. Karimganj, Assam, Pin- 788710, by religion- Hindu, by Caste-General, by profession- Business a candidate at the above election, do hereby solemnly & sincerely state and declared as under:-

- 1. That I was a contesting candidate at the General Election to the Legislative Assembly from LA-5, Badarpur Assembly Constituency, the result of which was declared on 02.05.2021.
- 2. That I/my election agent kept a separate and correct account of all expenditure incurred/authorized by me/my election agent in connection with the above election between 11.03.2021 to 02.05.2021 (the date on

NOTARY PUBLIC Karimgani No. KMJ 06



which I was nominated) and the date of declaration of the result thereof both days inclusive.

- 3. That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- 4. That the account of my election expenditure as annexed hereto includes all items of the election expenditure incurred or authorized by me or by my agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election and nothing has been concealed or withheld/suppressed there from (other than the expense on travel of leaders covered by Explanations I and 2 under section 77(1) of the Representation of the People Act, 1951.
- 5. That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election.

6. That the statements in the foregoing paragraphs(1) to (5) are true best of my knowledge and belief, that nothing is false and nothing material has been concealed. (Biswarp Blanacho Je

Identified by me

Dilip Ka. Don Dr 28-5-21

Advocate, Karimganj

Solemnly affirmed/sworn by Sri Biswarup Bhattacharjee on this 28th day of May, 2021 before me.

NOTARY PUBLIC

1 28 105 12021

Read. No. KMJ 06